



Vendor Ranking

Page 1 of 1

Letting: 01190815 August 15, 2019 11:00 AM **Call Order:** 004 **Contract:** E1S68-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43265017251 (*)

Contract Desc: Mowing, Litter Removal, and Edging & Sweeping

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TGA EQUIPMENT INC	Responsive	Winning bid	\$278,671.20	100.00%
2	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$415,030.36	148.93%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



08/29/2019

Page 1 of 3

Tabulation of Bids

Letting: 01190815 August 15, 2019 **Call Order:** 004 **Contract:** E1S68-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43265017251 (*)

Contract Descr: Mowing, Litter Removal, and Edging & Sweeping

The work under this Contract consists of Roadside Mowing, Litter Removal and Edging and Sweeping.

Line No / Item ID Alternate	Quantity Units	(1) TGA EQUI	PMENT INC	(2) GRADING 8 SERVICE				
() indicates item is bid as Lump Sum	5 5	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 LARGE MACHINE MOWING (AC)								
0005 E104 4 1 MOWING (REGULAR/LAF MACHINE)	9,773.000 RGE AC	16.00000	156,368.00	17.92000	175,132.16			
0010 E104 4 2 MOWING (SLOPE)	130.000 AC	50.00000	6,500.00	168.00000	21,840.00			
0015 E104 4 3 MOWING (SMALL MACHINE)	143.500 AC	50.00000	7,175.00	112.00000	16,072.00			
0020 E104 4 4 MOWING (INTERMEDIATE MACHIN	289.000 E) AC	50.00000	14,450.00	112.00000	32,368.00			
0025 E110 30 LITTER REMOVAL	12,402.600 AC	7.00000	86,818.20	7.00000	86,818.20			
0030 E110 32 2 EDGING	368.000 MI	20.00000	7,360.00	225.00000	82,800.00			
0001 LARGE MACHINE S	ection Totals:		\$278.671.20		\$415.030.36			

0001 LARGE MACHINE Section Totals: MOWING (AC) \$278,671.20

\$415,030.36



08/29/2019

Tabulation of Bids

Page 2 of 3

Letting:	01190815	August 15, 201	Call Order: 004		Contract:		E1S68-R0	
Line No / Item		e Quantity Units	(1) TGA EQUIPMENT INC		(2) GRADING & BUSH HOG SERVICES, INC.			
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$278,671.20		\$415,030.36		



08/29/2019

Tabulation of Bids

Page 3 of 3

Letting: 01190815 August 15, 2019 **Call Order:** 004 **Contract:** E1S68-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.